T2 £ 4 A 28 H ( A& THRE SB-FrJFEE  %U( )

REDHRT T FROET

BBAER (B, <Lo#HRK, TBELS ]

BERI-TOEDEAIBEICLLHERDNS

FROELLE)RHYELI=L, BT,

CHBITHEEEESL,

R [REiEY)

HE HE |E8: BT : TH—h: K5y X:
6[7]8]9]10

RERR

1| 36. 5°C

K45

it

BTG

BEAR K%K Bt WO HALN:A KE:K ALY S i @ X:O

42 £ 4 B 29 B (X&) THE  SB-FvIFEE  Eill( )

REDHTF H FRDOET

TTRTY,

REY [REEY)

HE He |8 BT TH—h: K% EY
6|78 ]9 ft10f11[12]13]14]15]16]17]18]19][20[21[22[23[24] 1|23 ]4]5

IR

1| 36. 8°C

K45

ot

54

REHR - K5k Bt 7O HALA KE: XK ALY F #E hO® K:O

£ 2 £ 4 A 30 B (&) THE__ SB-FvIFEHE Xl )

REDHT FRO%RF

. <Lod#, BKHY,

R [REiEY)

#HE HE |FB: BNT: TH—h: K : ey
6 | 789 to]11]12][13[14]15]16[17[18]19]20]21[22]23]24] 1| 2[3]4]5

RERR

#a| 37. 3°C

Ko

it

G

R <> K%K Bt Hif=:O WALV A KE: X FLAY:F % MO K:0




	Sheet1

